(ECE3455,Q3, Sum03) In the circuit shown,
a) Find the gain Vo /Vi as a function of resistors.
b) Find the gain Vo /Vi as a function of resistors.

(8

(3) The u.;//g,,, ETAOM,
Wit of T vy oc Vel
o Tl toltege of nole@ b ol oy, o % pe
of nole (@) 6 zers (o)

| 1%/&/@ il a ket al nole (2D ¥ hawey

qjl\ _ UO/Z, _ (Uol/z - ?Ja’ fua,/a

2R B ZR TR,
(ut vc (l)p
., - = - Uo 1
,// < J /2 '?3

Vo R ) ZZ : . . .
S = ’ So T 1S o nan- mvecy amf b
a Hain S,y;n'[a/ L ll«;Ve/Ll"éf %fm

@ WfWL‘:S a vode 1/0/7[34 7‘ al mlz@




